
rfn' cfufdL cf=j @)&#÷)&$ df cfof]hgf Joj:yfkg ;]jf vr{ tkl;n adf]lhd vr{ ug]{ ul/ af8kmf8 ug]{ lg0f{o 
ul/of] . 
 
qm=;+= lzif{s /sd s}lkmot 

k|:tfljt cfof]hgf Joj:yfkg ;]jf cf=j= 2073÷074     

1 kl/ifb vr{ 300000   

2 lkmN* eQf cg'udg d'Nof+sg cGo ;d]t 200000   

3 ;fj{hlgs ;'g'jfO{ u'gf;f] ;d]t 50000   

4 Kf|zf;lgs tyf k|fljlws vr{ pkef]Qmf u&g cled'lvs/)f ;d]t 116000   

5 cfof]hgf ;e]{If)f, l*hfO{g, xf]l*ª ;d]t  50000   

6 pks/)f vl/b 150000   

  kl/ifb lstfj %kfO{ tyf ;'rgf k|zf/)f 100000   

  hDdf 966000   

;Dk'/s  sf]if 2073÷2074 13500000   

1 hu]*f sf]if 10300000   

2 ;*s jf]*{ g]kfn 700000   

3 ;/sf/L lghL ;fem]bf/L sf]if 200000   

4 lh=lj=;= ;fem]bf/L sf]if 200000   

5 b}lj k|sf]k p@f/ sf]if 200000   

6 kmf]xf]/ d}nf Joj:yfkg 300000   

7 dd{t tyf ;'wf/ sf]if 600000   

8 gu/ ljsf; sf]if 1000000   

  hDdf 13500000   

 

 


